PerynupoBoy4Hble K0NbLa U3 HepXXasetoweit ctanu DIN 705, hopma A, na3

Onucanue ToBapa/cotorpachusa npoaykra

YepTexu

OnucaHue

Martepuan:
Hepxaserowias crans 1.4305.

WUcnonHeHwve:
be3 nokpbITus.

YKa3aHue Ha yepTexe:
1) BTOPOIA YCTAHOBOYHbIN BUHT AnameTpom D1 = 75

@ _, D3,
!
[ ST2 L
&9 )
™ : =]
— gt
| Q
4o
. |
/
D2 h13 ‘B js147
1
0030p uspenuin
Homep 3akasa ®opma Marepuan D1 B D2 D3
KOMMOHEHTa YCTAHOBOYHbIA BUHT
K0406.100302 A HepXaBsetowas ctasnb 3 5 7 M2x3
K0406.100402 A HepXaseroLLas ctanb 4 5 8 M2,5x3
K0406.100502 A HepXXaBeroLLas cranb 5 6 10 M3x4
K0406.100602 A HepXXaBsetoLas ctasnb 6 8 12 M4x5
K0406.100702 A HepXaBeroLLas ctanb 7 8 12 M4x5
K0406.100802 A HepXaBeroLLas cranb 8 8 16 M4x6
K0406.100902 A HepXaBsetoLas ctanb 9 10 18 M5x8
K0406.101002 A HepXaBetoLLas ctanb 10 10 20 M5x8
K0406.101102 A HepXXaBsetoLas crasnb 1 10 20 M5x8
K0406.101202 A HepXxasetoLas cTanb 12 12 22 M6x8
K0406.101402 A HepXaBeroLLas ctanb 14 12 25 M6x8
K0406.101502 A HepXXaBsetoLas crasnb 15 12 25 M6x8
K0406.101602 A HepXxasetoLas cTanb 16 12 28 M6x8
K0406.101802 A HepXaBeroLLas ctanb 18 14 32 M6x8
K0406.102002 A HepXxaBsetoLas ctasnb 20 14 32 M6x8
K0406.102402 A HepXxasetoLas cTanb 24 16 40 M8x12

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

1/2



PerynupoBoy4Hble K0NbLa U3 HepXXasetoweit ctanu DIN 705, hopma A, na3

0630p uspenmi

Homep 3akasa ®opma Marepuan D1 B D2 D3
KOMMOHEeHTa YCTAHOBOYHbIA BUHT

K0406.102502 A HepXaBeroLLas ctanb 25 16 40 M8x10
K0406.102602 A HepXaseloLLas ctanb 26 16 40 M8x10
K0406.102802 A HepXxasetoLas cTanb 28 16 45 M8x12
K0406.103002 A HepXaBeroLLas ctanb 30 16 45 M8x10
K0406.103202 A HEePXaBerLLas cTanb 32 16 50 M8x12
K0406.103502 A HepXxasetoLas cTanb 35 16 56 M8x12
K0406.103602 A HepXaBeroLLas ctanb 36 16 56 M8x12
K0406.103802 A HEePXXaBewLLas cTanb 38 16 56 M8x12
K0406.104002 A HepXxaBetoLas cTanb 40 18 63 M10x16
K0406.104202 A HepXaseroLwuas ctasnb 42 18 63 M10x16
K0406.104502 A HepXaseloLLan ctanb 45 18 70 M10x16
K0406.104802 A HepXxaBetoLas cTanb 48 18 70 M10x16
K0406.105002 A HepXaBeroLLas ctanb 50 18 80 M10x16
K0406.105202 A HepXXaBsetoLas ctasnb 52 18 80 M10x16
K0406.105502 A HepXaseroLLas ctanb 55 18 80 M10x16
K0406.105602 A HepXaBeroLLas ctanb 56 18 80 M10x16
K0406.105802 A HepXxaBsetoLas ctasnb 58 20 90 M10x16
K0406.106002 A HepXxaBetoLas cTanb 60 20 90 M10x16
K0406.106302 A HepXaBeroLLas ctanb 63 20 90 M10x16
K0406.106502 A HepXxasetoLas cTanb 65 20 100 M10x20
K0406.106802 A HepXxaBetoLLas cTanb 68 20 100 M10x20
K0406.107002 A HepXaBeroLLas ctanb 70 20 100 M10x20
K0406.107202 A HepXasetoLas cTanb 72 20 100 M10x20
K0406.107502 A HepXaseroLLas ctanb 75 22 110 M12x20
K0406.108002 A HepXaBeroLLas ctanb 80 22 110 M12x20
K0406.108502 A HepXxasetoLas cTanb 85 22 125 M12x25
K0406.109002 A HepxaBetoLLas cTanb 90 22 125 M12x20
K0406.110002 A HepXxaBsetoLas crasnb 100 25 140 M12x25

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



